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WORD OF THE DAY

FLAG

(VERB): (Heh-): tire
Synonyms: weaken, falter
Antonyms: revive
Example Sentence:

If you begin to flag, there is an

excellent cafe to revive you.
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Directions(1-3):In the sentences given below, four
words have been highlighted and placed in a
sentence. Identify the correct sequence of the words
in the sentence and mark that option as your

answer.



Q1. What the government can control (A), however,
taxes Less (B) than two years slumped (C) the
Modi government took office, crude oil prices
after (D) from over $100 a barrel to less than $30
a barrel.

A. BCDA

B. BCAD

C. CBDA

D. ABDC

E. None of the options
Answer: D




Q2. Autonomous cars also pose (A) ethical
priorities (B), especially in case of accidents:
who does the car protect(C), the passengers
or the pedestrians? The government will
have to set its policies and issues (D) right
first.

A. DABC

B. BADC

C.CBCA

D. ADCB Answer: D

E. No correction required




Q3. "India also needs to part (A) strategic reserves
of oil, acquire (B) equity interest in
international oil companies and diversify (C)
the energy portfolio as build (D) of a long-
term sustainable energy security strategy,
says Ranade.

A. ABCD

B. DACB

C. DCBA

D. DBCA

E. No correction required Answer: D




In the question below, a sentence is divided into four
parts out of which one part has an error in it. Find

the part with error and mark that as your answer.



Q4. Three decades after it’s economy (A) /
was liberalized, India remains (B) / a
complex and challenging (C) / place to
do business. (D)/ No error.

A. A

B.B

C.C

D.D

E. No error

Answer: A Replace It‘s with its



QS. The much-awaited vehicle scrap page policy
announced by the Transport Ministry, (A)/
coming after the move for a green tax (B)/
on ageing and polluting automobiles, (C)/
promising economic benefit.(D)/ No error.

A. A

B.B

C.C

D.D

E. No error

Correct Option — D promises

economic benefit.



Q6. Iran is not the only country (A)/ there the US
has sought to destabilize (B)/ hostile
governments through intensive (C)/
intervention in domestic politics. (D)/ No
error.

A.A

B.B

C.C

D.D

E.No error Answer: B
Iran is not the omly country

where



Q7. Ambiverts can be good salespeople because
they are (A)/ able to listen to their clients
and understand their needs (B)/ but also
have an energy to sell (C)/ their firms® goods

and services. (D)/ No error.

A. A
B.B
C.C Answer: C We generally use Article
D.D "an" with a singular
E. No error countable noun. But Energy

is an uncountable noun.



Q8. America‘s main financial regulator looks
poised to (A)/ introduce rules forcing firms
to(B)/ reveal how climate change or efforts
to fight it (C)/ may affect their business. (D)/
No error.

A. A

B.B

C.C
D.D Answer: E

E. No error The given sentence is error free.



In the following questions, a sentence is
divided into four parts consisting of a
highlighted word in each part. Choose the
option reflecting the word which is either
misspelt or grammatically incorrect. If all
the highlighted words are correct, choose
option (e) i.e. “all are correct” as your

answer choice.



Q9. The manager balenced (A) the strength (B) of
his team against that of their opponent (C)
and sighed. (D)

(a) balenced (b) strength (c) opponent

(d)sighed (e) All are correct

Answer: (a); “ balanced ” which is

spelt as “balenced”



Q10. One evening Rohan pripared (A) a nice
supper (B) and put it on low heat in the
oven to keep it tepid (C) while his wife

dressed. (D)
(a) prepared (b) supper (c) tepid
(d) dressed (e) All are correct

(a) “pripared” which is spelt as
“prepared”



Q11. She was able to breathe (A) easier when she
stood outside the massive(B) fortress (C) that
sat on a clearing the size of two footbal
(D)fields.

(a) breathe (b) massive (c) fortress

(d) football (e) All are correct

Answer: (d) “footbal” which is

spelt as “football”



Q12. From time to time Jack would looking over
(A) Mungo's shoulder, suggesting (B) tactics
(C) which invariably proved disastrous.(D)
(a) looking over (b) suggesting (c)tactics
(d) disastrous (e) All are correct

Answer: A
Replace looking over with look over



Q13. Horrified (A) passengers saw Olive stumble
(B) and fall of (C) a platform as an express

roared (D) in.
(a) Horrified (b) stumble (¢) fall of
(d) roared (e) All are correct

Answer: (c) “fall of”’ which is spelt as “fall off”



In the following questions, a grammatically
correct and meaningful sentence is given
which is divided into five parts, where the first
part is fixed and highlighted , in the
remaining parts of the sentence namely
(A),(B),(C) and (D)You have to arrange the
four parts to make a contextually and
grammatically meaningful sentence. If no
such rearrangement is possible mark (e) as

your answer i.e. 'No rearrangement required’.



Q14. (A)the merger of Bharti Infratel
(B) the world’s second largest
(C) and Indus Towers will create

(D) tower company
(a) BCDA (b)CBDA (c) ACBD
(d)DCAB (e)No rearrangement required

Answer: (c); The correct rearrangement of the
parts of statement will be “ACBD”



Q15. (A) upcoming visit to India

(B) the long-awaited trade agreement

(C) during US President Donald Trump's
(D) Appears to be off the table

(a) DABC (b) BDCA (C) CDAB
(d)ADCB (e)No rearrangement required

Answer: (b) The correct rearrangement of the
parts of statement will be “BDCA”




Q16. (A)Leaders of the Railway Employees
Organization

(B) alleged that the government wants to

(C) hand over the rail infrastructure

(D) to the private operators for financial benefit

(a) ADCB (b) BACD (c)CDBA

(d)DABC (e)No rearrangement requirege s

Answer: (e) No rearrangement required



Q17. (A) China has not yet given

(B) India the go-ahead to send an

(C) to coronavirus hit Wuhan

(D) aircraft with medical supplies

(a) DACB (b)ABDC (c)CBDA
(d)BCDA (e)No rearrangement required

Answer: (b) The correct rearrangement of the
parts of statement will be “ABDC”




Q18. (A) mammals and birds move from

(B) with a change in season, many

(C) one country to another in search of food
(D) and shelter, and for breeding

(a) ACBD (b)CADB (c) DABC
(d)BACD (e)No rearrangement required

Answer: (d); The correct rearrangement of the parts
of statement will be “BACD”




A word has been given in each question and has
been used in the sentences given below. Identify
the statements where the word has been used in
a contextually and grammatically correct
manner. If the word has been used correctly in
all the statements, mark (e), “All of these”, as

your answer.



Q19. HOSTILE
(i) He made hostile efficiency a key part of his budget

plan.
(ii) There has been a hostile reaction to the government's
proposed tax increase.

(iii) The security forces exercised great restraint by not

Responding to@ostilgiattacknant hosakse or feeling

(a) Only (i) opposition or dislike;
(b) Both (i) and(ii) unfriendly. Therefore, sentence
(c) Both (ii) and (iii) (i) and (iii) depict the correct
(d) Only (iii) usage of the given word. Hence,
(e) All of these option (c) is the most suitable

answer choice.



Q20. VAGUE
(i) The judges determined that the law was too vague to be

fairly enforced.

(ii) The merger of these two companies would vague the
world's biggest accounting firm

(iii) The president had a vague reception in QOhio this

(2) Only (1) communicating in an unfocused
(b) Both (i) and(ii) or imprecise way. Therefore, only
(c) Both (ii) and (iii) sentence (i) depicts the correct
(d) Only (iii) usage of the given word. Hence,

(e) All ofthese option (a) is the most suitable



L)

I' HOME WORK
ESCALATE

(i) The pedestrian was jaywalking when he escalate

the busy street, walking straight into the path of
an Oncoming vehicle.

(i) We've tried to escalate the most likely problems,
but it's impossible to be prepared for every
eventuality.

(iii) The decision to escalate UN involvement has been
made in the hopes of a swift end to the hostilities.

(a) Only (i) (b) Both (i) and (ii)
(e RBath (2D and (330 (AN Onlsr (233 (ol ATl of



They defennded
against the invaders.
1. defennded
2. country
3. against
4. invaders

5. no error

I' HOME WORK ANSWER

their

o

country






